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208Pb, with uniform radial grid
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/*

Reletivistic mean-field model for spherical symmetric systems

2010/12/15 : rmf3h.c(ver.20) = starting point of rmféda.c and rmfba.c
2007/11/1,2,6,7 : rmf2c.c (self-consistent field calculation)
2007/10/10-23,31: rmf2b.c (for given Woods-Saxon form potential)

2007/9/3 : renamed from rmfl-z.c to rmf2a.c
2006/12/8,10-16 : created
x/

#include <stdio.h>
#include <stdlib.h>
#include <math.h>

#include <string.h>

// Arrays to store the energies and wavefunctions of the eigenstates
#define NEUTRON O // idxt = O for neutrons
#define PROTON 1 // idxt = 1 for protons
#define SIGMA O // idxb = 0 for sigma meson
#define OMEGA 1 // idxb = 1 for omega meson
#define RHO 2 // idxb = 2 for rho meson
#define COULOMB 3 // idxb = 3 for photon
#define NBOSON 4 // 0 <= idxb < NBOSON
#define IDXT 2 // idxt (index t) = 0..IDXT-1
// idxt = NEUTRON (=0) : neutron
// idxt = PROTON (=1) : proton
#define IDXP 2 // idxp (index p) = 0..IDXP-1
// idxp = 0 : varpi=-1, L=J-1/2
// idxp = 1 : varpi= 1, L=J+1/2
#define IDXJ 8 // idxj(index j)=0..IDXJ-1
//J = idxj+1/2
#define NODE 5 // node=0..NODE-1

N O =
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// node=0 for the gournd state

#define IDXR 3001 // idxr(index r)=0..IDXR-1

// "s" stands for "stored in memory"

double Es[IDXT] [IDXP] [IDXJ] [NODE]; // energy (MeV)
double Occs[IDXT] [IDXP] [IDXJ] [NODE]; // occupation number
double Fs[IDXT] [IDXP] [IDXJ] [NODE] [IDXR];// large component of the radial wavefunction

double Gs[IDXT] [IDXP] [IDXJ] [NODE] [IDXR];// small component of the radial wavefunction
// r = idxrxdr : idxr = 0..IDXR-1
double Vs[IDXT] [2*IDXR-1]; // scalar potential (MeV) Vs[i] = Vs(r=drx*i/2)
double Vv[IDXT] [2*IDXR-11]; // vector potentlal (MeV) Vv[i] = Vv(r=drx*i/2)
double Dens[2*IDXT] [2*IDXR-1]; // Dens[0] [idxrd] : neutron |F|~2+|G|"2
// Dens[1] [idxrd] : proton |F|~2+|G|"2
// Dens[2] [idxrd] : neutron |F|~2-|G|"2
// Dens[3] [idxrd] : proton [|F|"2-|G|"2
// r = idxrd*dr/2 : idxrd = 0..2*IDXR-2
double phi [NBOSON] [2*IDXR-1]; // classical boson fields
double source[NBOSON] [2*IDXR-1]; // source term of boson fields

// physical constants

const double HbC = 197.326960; // h-bar c [MeV fm~2]

const double fineStructureConstant = 1.0/137.036000; // fine structure constant
const double Ebig = 9.90e+30;

const double Ebigg = 9.99e+30; // must be bigger than Ebig.

// global variables

int idxtGlobal;

int NZ[IDXT]={126,82}; // the numbers of neutrons and protons (N and Z)

int imax[IDXT]; // the number of negative single-particle energy levels

int iterGlobal;

double temperature = 0.1; // [MeV], the only paramter for the Fermi distribution

double Mass[IDXT] = {939.56533, 938.27200}; // neutron and proton mass [MeV/c"2]

double BosonMass[NBOSON] = {520.0, 783.0, 770.0, 0.0}; // boson mass [MeV/c"2]

double squaredCoupling[NBOSON] = {109.626, 190.431, 16.3065, 0.0}; // [hbarxc]
// N.B.  16.3065=66.226/4

double Coupling[NBOSON]; // Coupling constant, to be defined in setParameters

double Rin; // (fm) The radius of connection to the Taylor series around r=0.

double Rout; // (fm) The radius of the connection to an asymptotic solution for large r

double Rmax; // (fm) The maximum radius to calculate the asymptotic solution.
double Rmatch; // (fm) The radius where the forward and backward solutions meet.
double RadialGridSpacing; // (fm) Copy to a local variable "dr" and use "dr".

// paramters to construct the initial potential

double VsStr[IDXT] = {-373.0,-373.0}; // 398.5 ; // (MeV) Stength of the scalar potential
VvStr[IDXT] = {274.0,274.0}; // 340.0 ; // (MeV) Strength of the vector potential

double

double
double
double

// Positive (negative) strengths mean repulsive (attractive) potentials.

R_ws=7.0; // (fm) radius of Woods-Saxon potential, to be replaced with rO_ws*A~0.3
r0_ws=1.2; // (fm) R=r0_ws*A~(1/3.0)
a_ws=0.7; // (fm) surface thickness of the Woods-Saxon potential
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struct RadialGridIndex {

int i ; // inside point, where outward solution starts

int m ; // matching point, where inward and outward solutions meet

int o ; // outside point, where the inward solution starts

int x ; // maximum radius point, to which the asymptotic solution is calculated
} Idxr; // NB) IDXR is macro, Idxr is structure, idxr is int

typedef struct{
double e ; // enegy of this orbital
double o ; // occupation number = the number of nucleons in this orbital
int p ; // idxp
int j ; // idxj
int n ; // idxn
} orbital;

orbital e[IDXT] [IDXP*IDXJ*NODE]; // properties of eigenstates of a nucleon

// prototype declarations of functions

int setParameters();

int writeParameters(FILE *FQ);

int progl();

int prog2(int idxt, orbital *e, int *imax, double *etot);

//int fermiDistribution(int idxt,int imax);

int writeWavefunction(FILE #F0,int idxt, int idxp, int idxj, int idxn);

// int swap : defined before function sort, only by which it is called.

int sort(orbital *e, int imax);

int resetOccs(int idxt);

int resetEs(int idxt);

int initialPotential(int sw);

int idx2qn(int sw,int idxp,int idxj, double *J,int *w,int *L,int xkappa);

int setRadialGrid(int sw);

double solveDirac(int idxp,int idxj,int idxn); // retuned value = Energy eigenvalue (MeV)
// int rungeBCi : defined before function runge, only by which it is called.
// int rungeBCo : defined before function runge, only by which it is called.
int runge(int sw, double E, int idxp, int idxj, int idxn, int *node, double#*maco);
int Poisson(int imax,double h,double *source,double *phi);

int screenedPoisson(int imax,double h,double m,double sourcel[],double phil]);
int interpolate(double *y, int n);

int main(int argc, char *argv[]){
if(argc >= 2) NZ[NEUTRON]=atoi(argv[1]);
if (argc >= 3) NZ[PROTON]=atoi(argv[2]);
if(argc >= 2) printf("[ N=d , Z=)d ]\n",NZ[NEUTRON],NZ[PROTON]) ;
if (argc >= 4) temperature=atof (argv[3]);
printf ("Temperature=%f\n",temperature) ;
setParameters();
writeParameters(stdout) ;
progl();
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int setParameters(){
int idxb;
for (idxb=0;1dxb<NBOSON;idxb++){
Coupling[idxb]=sqrt (squaredCoupling[idxb]*HbC) ;
}
Coupling [COULOMB] =sqrt (4*M_PI*HbC*fineStructureConstant) ;
}

int writeParameters(FILE *F0)
{ // writes the physical parameters of the model to a stream
fprintf (FO, "neutron mass=%10.4f (MeV/c~2)\n",Mass [NEUTRON]) ;
fprintf (FO, "proton mass=%410.4f (MeV/c~2)\n",Mass[PROTON]) ;
fprintf (FO,"sigma meson mass=%10.4f (MeV/c"2) g~2=%10.4f (hbarxc)\n"
,BosonMass [SIGMA] , squaredCoupling [SIGMA]) ;
fprintf (FO,"omega meson mass=%410.4f (MeV/c"2) g~2=%10.4f (hbarxc)\n"
,BosonMass [OMEGA] , squaredCoupling [OMEGA]) ;
fprintf (FO,"rho meson mass=%10.4f (MeV/c"2) g~2=),10.4f (hbarx*c)\n"
,BosonMass[RHO ],squaredCoupling[RHO 1);
fprintf (FO, "hbarxc=%12.6f (MeV*fm~2)\n",HbC);
fprintf (FO,"fine structure constant=1/%12.6f\n",1.0/fineStructureConstant);
fprintf (FO,"Coupling Constant : sigma=}.6e omega=%.6e rho=}%.6e coulomb=%.6e\n"
,Coupling [SIGMA],Coupling [OMEGA] ,Coupling[RHO],Coupling [COULOMB]) ;
// fprintf (FO,"vector pot=%10.3f scalar pot=%10.3f (MeV)\n",VvStr,VsStr);
// fprintf (FO,"Woods-Saxon parameters: R=J10.5f a=%10.5f\n",R_ws,a_ws);

int progl(){
/*
Calculation of levels and densities fulfilling selfconsistency condition

*/

int idxt,i,idxp,idxj,idxn,idxr,idxrd,degeneracy,num,iter;

double E,sumspe[IDXT],eboson,etot; // Energy [MeV], sum of single-particle energy
double r,dr,drb; // radial coordinate (fm) and its grid spacing (drb=drb/2)

int iprint;

double diffVs[IDXT],diffVv[IDXT]; // maximum (for r) of the discrepancy in potentials
double diff,diff2;

double *Fsptr, *Gsptr;

FILE *FFD, *FBD, *FPO, *FWF;

FFD=NULL; // FFD=fopen("fdens.dat","w"); // Fermion (=nucleon) densities
FBD=NULL; // FBD=fopen("bdens.dat","w"); // Boson densities

FPO=NULL; // FPO=fopen("pot.dat","w"); // Potential energies

FWF=NULL; // FWF=fopen("wf.dat","w"); // Nucleon wavefunctions
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printf("[ N=¥d , Z=%d ]\n",NZ[NEUTRON],NZ[PROTON]) ;
setRadialGrid(1);
initialPotential(1);

dr=RadialGridSpacing;
drb=dr/2;

if (FPO !'= NULL){
fprintf (FPO,"# iter ’%d (initial potential)\n",0);
iprint=0.1/drb; if(iprint<1) iprint=1;
for(i=0;i<=2*Idxr.x;i++){
if(i<=30||i % iprint == 0){
fprintf (FPO,"%9.5f %.7e %.7e %.7e %.Te %.7e %.7e %.7e %.7e\n",ixdrb
,Vs [NEUTRON] [i],Vv [NEUTRON] [i],Vs [PROTON] [i], Vv [PROTON] [i]
,0.0, 0.0, 0.0, 0.0);
}
}
fprintf (FPO,"\n");
}

for(iter=1;iter<=1000;iter++){ // loop for selfconsistency : begin
iterGlobal=iter;

for(idxt=0;idxt<IDXT;idxt++) prog2(idxt,e[idxt],&imax[idxt],&sumspe[idxt]);
printf ("iter=Yd prog2 finished. E=Je %e\n",iter,
sumspe [NEUTRON] , sumspe [PROTON] ) ;
// exit(1); // temporary modification
printf("iter=Yd finished\n",iter);

printf ("# J=idxj+0.5, L=idxj+idxp, varpi=2x*idxp-1, kappa=varpi*(J+0.5)\n");
for (idxt=0;idxt<IDXT;idxt++){
num=0;
double nocc=0;
for(i=0;i<imax[idxt];i++){
if (e[idxt] [i].e < Ebig){
degeneracy=2%e[idxt] [i] . j+2; num+=degeneracy;
printf ("%d idx(t,p,j,n)=%d %d %d %d E=m %+10.5f
occ=Y%10.8f dgn=%2d sum=%3d :spl%3d\n",iter
,idxt,el[idxt] [i].p,e[idxt] [i].j,e[idxt] [i].n
,elidxt] [i] .e-Mass[idxt],e[idxt] [i].0,degeneracy,num,i);
nocc+=e[idxt] [i] .0;
if (FWF !'= NULL){
fprintf (FWF,"# %d %d %d %d %d\n"
,idxt,i,elidxt] [i].p, elidxt][il.j, elidxt][i].n);
Fsptr=Fs[idxt] [e[idxt] [i] .p] [e[idxt] [i].j] [e[idxt] [i].n];
Gsptr=Gs[idxt] [e[idxt] [i].p] [e[idxt] [i].j] [e[idxt] [i].n];
for (idxr=0;idxr<=Idxr.x;idxr++){
fprintf (FWF,"%9.5f %.5e %.5e\n",idxr*dr,Fsptr[idxr],Gsptr[idxr]);
}
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fprintf (FWF,"\n");
}

Y/ />if (e)
}Y//>for (i)
if (fabs(nocc-NZ[idxt])>1.0e-12){
printf ("warning: sum of occupation number = %.8f
error=Y,.3e\n" ,nocc,nocc-NZ[idxt]) ;
}
}//>for(idxt)

if (FFD !'= NULL){
for(idxrd=0;idxrd<=2*Idxr.x;idxrd++){
r=idxrd*drb;
fprintf (FFD,"%9.5f %.7e %.7e %.7e %.7e\n",r
,Dens[0] [idxrd], Dens[1] [idxrd], Dens[2] [idxrd], Dens[3] [idxrd]);
}
fprintf (FFD,"\n");
}

// boson field

for(i=0;i<=2%Idxr.x;i++){
source [SIGMA] [i] = (Dens[2] [i]+Dens[3] [i])*Coupling [SIGMA];
source [OMEGA] [i] = (Dens[0] [i]+Dens[1][i])*Coupling [OMEGA];
source [RHO] [1] = (Dens[0] [i]-Dens[1] [i])*Coupling[RHO] ;
source [COULOMB] [i] = Dens[1] [i]*Coupling [COULOMB] ;

screenedPoisson(2*Idxr.x+1,drb,BosonMass [SIGMA] /HbC, source [SIGMA] ,phi [SIGMA]) ;
screenedPoisson(2*Idxr.x+1,drb,BosonMass [0MEGA] /HbC, source [OMEGA] ,phi [OMEGA] ) ;
screenedPoisson(2*Idxr.x+1,drb,BosonMass [RHO] /HbC, source [RHO] ,phi [RHO]) ;
Poisson(2*Idxr.x+1,drb,source [COULOMB] ,phi [COULOMB]) ;

if (FBD != NULL){
for(i=0;i<=2*Idxr.x;i++){
r=i*drb;
fprintf (FBD,"%9.5f %.7e %.7e %.7e %.7e\n",r
,phi[SIGMA] [i],phi [OMEGA] [i],phi [RHO] [i],phi [COULOMB] [i]);
}
fprintf (FBD, "\n");
}

// total energy

eboson=0;
for(i=1;i<=2%Idxr.x;i++){
eboson+=ix*ix*(
-phi[SIGMA ][i]*source[SIGMA 1[i]
+phi [OMEGA ] [i]*source[OMEGA ] [i]
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}

+phi [RHO 1 [i]*source [RHO 10
+phi [COULOMB] [i] *source [COULOMB] [i]
)3

eboson*=4*M_PIxdrb*drb*drb;
etot=sumspe [NEUTRON] +sumspe [PROTON] -eboson/2;
printf("%d %.6f %.6f %.6f %.6f :total energy(MeV)\n",iter

,etot, sumspe [NEUTRON] , sumspe [PROTON] , eboson) ;

// new potential for the next iteration

for (idxt=0;idxt<IDXT;idxt++){diffVs[idxt]=0; diffVv[idxt]=0;}
if(FPO !'= NULL) fprintf(FPO,"# iter %d\n" ,iter);
for(i=0;i<=2%Idxr.x;i++){

double Vsigma, Vomega, Vrho, Vcoul, Vsnew[IDXT], Vvnew[IDXT];
const double p=0.5; // damping factor

Vsigma=-Coupling [SIGMA] #*phi[SIGMA][i] ;
Vomega= Coupling[OMEGA] *phi[OMEGA] [i] ;
Vrho = Coupling[RHO] *phi [RHO] [i] ;
Vcoul = Coupling[COULOMB]*phi [COULOMB] [i];
Vsnew [NEUTRON]=Vsigma;
Vsnew [PROTON ]=Vsigma;
Vvnew [NEUTRON] =Vomega+Vrho;
Vvnew [PROTON ]=Vomega-Vrho+Vcoul;
if (FPO !'= NULL){
if(i<=30||i % iprint == 0){
fprintf (FPO,"%9.5f %.7e %.7e %.7e %.7e %.7e %.7e %.7e %.7e\n",ixdrb
, Vsnew [NEUTRON] , Vvnew [NEUTRON] , Vsnew [PROTON] , Vvnew [PROTON]
,Vsigma,Vomega,Vrho,Vcoul);
}
}
for(idxt=0;idxt<IDXT;idxt++){
diff=fabs(Vsnew[idxt]-Vs[idxt] [i]); if(diffVs[idxt]<diff) diffVs[idxt]=diff;
diff=fabs(Vvnew[idxt]-Vv[idxt] [i]); if(diffVv[idxt]l<diff) diffVv[idxt]=diff;
Vs[idxt] [i]=(1-p) *#Vs [idxt] [i]+p*Vsnew [idxt];
Vv [idxt] [i]1=(1-p)*Vv [idxt] [i] +p*Vvnew [idxt] ;

}
}
diff = diffVs[NEUTRON] ;
diff2 = diffVs[PROTON] ; if ( diff2 > diff ) diff = diff2 ;
diff2 = diffVv[NEUTRON] ; if ( diff2 > diff ) diff = diff2 ;
diff2 = diffVv[PROTON] ; if ( diff2 > diff ) diff = diff2 ;

printf ("max (for r) potential

inconsistency(Vs(n),Vv(n),Vs(p),Vv(p),all) (MeV)\n");

printf ("%e %e %e %e %he :pd\n"

,diffVs [NEUTRON] ,diffVv [NEUTRON] ,diffVs [PROTON] ,diffVv [PROTON] ,diff);

if(FPO !'= NULL) fprintf(FPO,"\n");
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if (diff<1.0e-8) {
printf ("selfconsistency fulfilled: iter %d,
potential difference< %e\n",iter,diff);
break;

}

} // for(iter): loop for selfconsistency : end

if (FFD != NULL || FBD != NULL){
for(i=0;i<=2*Idxr.x;i++){
r=i*drb;
if (FFD != NULL) fprintf(FFD,"%9.5f %.7e %.7e %.7e %.7e\n",r
,Dens[0] [1], Dens[1][i], Dens[2][i], Dens[3][i]);
if (FBD != NULL) fprintf(FBD,"%9.5f %.7e %.7e %.7e %.7e\n",r
,phi[SIGMA] [i],phi [OMEGA] [i],phi [RHO] [i],phi [COULOMB] [i]);
}
if (FFD != NULL) fprintf(FFD,"\n");
if (FBD != NULL) fprintf(FBD,"\n");
}

if (FFD != NULL) fclose(FFD);
if (FBD != NULL) fclose(FBD);
if (FPO '= NULL) fclose(FPO);
if (FWF != NULL) fclose(FWF);

printf("%d %d %d %d %d %t %f %f %25.15f :final\n"
,NZ [NEUTRON] ,N [PROTON]
,Idxr.i,Idxr.m,Idxr.o,Rin,Rout,RadialGridSpacing,etot);

return O;

int prog2(int idxt, orbital *e, int *imaxPtr, double *etot){
int idxp, idxj, idxn;
int i,n,fn,idxr,idxrd;
double r, dr, E, *Fsptr, *Gsptr;

idxtGlobal=idxt;

// energy sweep (for a test of this code)
if (0){
int mxi=200, node ; double maco;
int idxp=0; int idxj=0; int idxn=0;
for(i=0;i<mxi;i++){
E=Mass[idxt]-mxi+i;
runge (0,E,idxp,idxj,idxn,&node,&maco) ;
}
}
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if (iterGlobal<=100){

// calculation of the energies and wavefunctions of the eigenstates
// for all the combinations of the quantum numbers
resetEs(idxt) ;
i=0;
for (idxp=0;idxp<IDXP;idxp++){
for(idxj=0;1idxj<IDXJ;idxj++){
for (idxn=0;idxn<NODE;idxn++){
E=solveDirac(idxp, idxj, idxn);
if (E >= Ebig) break;
e[i] .e=E;
e[i] .p=idxp;
e[i].j=1idxj;
e[i] .n=idxn;
it++;
} //>for(idxn)
} //>for(idxj)
} //>for(idxp)
*imaxPtr=i;

// sorting the eigenstates in the asceding order of energy
sort (e, *imaxPtr) ;

// determination of the occupation number
//if (iterGlobal<=101){

resetOccs(idxt);
fn=NZ[idxt];
for(i=0;i<*imaxPtr;i++){
if (fn>0) {
n=2x*e[i] .j+2;
if (fn<n){
n=fn;
}
e[i] .o=n;
Occs[idxt] [e[i].p] [e[i].j] [e[i] .n]=n;
fn-=n;
}
else {
el[i] .o0=0;
Occs[idxt] [e[i].p] [e[i].j]l [e[i].n]=0;
}
}//>for (i)
if (fn>0){
fprintf(stderr,"error in calculating density:
insufficient number of levels\n");
exit(1);
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//fermiDistribution(idxt,*imaxPtr) ;

// calculation of the densities
double f6 = 4.0/3.0;

double f7 = -1.0/3.0;
dr=RadialGridSpacing/2;

for (idxrd=0;idxrd<=2*Idxr.x;idxrd++){
Dens[idxt] [idxrd]=0.0;
Dens [idxt+IDXT] [idxrd]=0.0;

}

*etot=0; // sum of single-particle energies
for(i=0;i<*imaxPtr;i++){double occ;
occ=e[i].o;
if(occ == 0.0) continue;
*etot+=occ*e[i] .e;
Fsptr=Fs[idxt] [e[i].p] [e[i].j]l [e[i].n];
Gsptr=Gs[idxt] [e[i].p]l [e[i].j] [e[i] .n];
for (idxr=1;idxr<=Idxr.x;idxr++){double Ft,Gt;
idxrd=2*xidxr;
r=idxrdx*dr;
Ft=Fsptr[idxr];
Gt=Gsptr[idxr];
Dens [idxt ] [idxrd] +=(Ft*Ft+Gt*Gt) *occ/ (4.0*xM_PI*r*r) ;
Dens [1dxt+IDXT] [idxrd] +=(Ft*Ft-Gt*Gt)*occ/(4.0*%M_PI*r*r) ;

Dens[idxt] [0]=f6*Dens [idxt] [2] +f7*Dens [idxt] [4];

Dens [idxt+IDXT] [0]=f6*Dens [idxt+IDXT] [2] +f7*Dens [idxt+IDXT] [4];
}//>for (i)
// printf("%d %f\n",NZ[idxt],Mass[idxt]);
*etot-=NZ[idxt] *Mass [idxt];

// printf ("%f\n",*etot);

interpolate(Dens[idxt],2*Idxr.x+1);
interpolate(Dens [1dxt+IDXT] ,2*Idxr.x+1);

// fprintf (stderr,"%f %f %f %f #3#\n"
,Dens [0] [0] ,Dens[1] [0] ,Dens[2] [0] ,Dens[3] [0]);

//return O;

/*int fermiDistribution(int idxt,int imax)
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int i,j,fn;

double n,nsum,m,1;

double beta=1/temperature;
double eflo,efhi,ef;

const int debug = 0;

eflo=-100.0;

if (eflo > el[idxt] [0].e) eflo = e[idxt] [0].e;

efhi=0.0;

if (efhi < e[idxt] [imax-1].e) efhi = e[idxt] [imax-1].e;
efhi+=1.0+temperature*37;

ef=0.0;

fn=NZ[idxt];

// resetOccs(idxt); // removed line
if (debug) printf("%d %f\n",NZ[idxt],beta);
for(j=0;j<564;j++){ //bisectionMethod

ef=(eflo+efhi)/2;
nsum=0.0;

for(i=0;i<imax;i++){
n=(2x(e[idxt] [i].j)+2)*(1/ (1+exp(beta*(((e[idxt] [i] .e)-Mass[idxt])-ef))));
m=(1/(1+exp(beta* (((e[idxt] [i] .e)-Mass[idxt])-ef))));
1=(2x(e[idxt] [i].j)+2);
nsum+=n;
if (debug) printf("%d %d n=Y/f nsum=Yf m=%f 1=/f\n",i,j,n,nsum,m,l);
if (debug) printf ("ef=%f\n",ef);
if (nsum<fn){eflo=ef;}

else if (nsum>fn){efhi=ef;}
else {break;}

ef=(eflo+efhi)*0.5; // modified
resetOccs (idxt) ;

nsum=0;
for (i=0;i<imax;i++){

n=(2x(e[idxt] [i].j)+2)*(1/(1+exp(beta*x (((e[idxt] [i].e)-Mass[idxt])-ef))));
//fermidistribution
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m=(1/(1+exp(beta*(((e[idxt] [i].e)-Mass[idxt])-ef))));
1=(2*(e[idxt] [i].j)+2);

e[idxt] [i] .o=n;
Occs[idxt] [e[idxt] [i].p] [e[idxt] [i].j] [e[idxt] [i] .n]=n;
nsum+=n;
if (debug) printf("%1d %3d %1d %1d %1d"
,idxt,i,elidxt] [i].p,elidxt] [i].j,elidxt] [i].n); // for debug
if (debug) printf(" E= %9.4f %.le occ=Y%13.10f %.le 1=Y4.1f nsum=%14.10f\n"
,el[idxt] [i] .e—Mass[idxt]
;elidxt] [i].e-Es[idxt] [e[idxt] [i].p] [e[idxt] [i].j] [e[idxt] [i] .n]
,elidxt] [i].o
;e[idxt] [i] .0-0ccs[idxt] [e[idxt] [i].p] [e[idxt] [i].j] [e[idxt] [i] .n]

,1
,nsum) ; // for debug
}
//exit(1);
}
*/
At

int writeWavefunction(FILE *F0, int idxt, int idxp, int idxj, int idxn)
{ // writes the wavefunction to a stream

int i;

double r1, F, G, *Fsptr, *Gsptr;

Fsptr=Fs[idxt] [idxp] [idxj] [idxn]; Gsptr=Gs[idxt] [idxp] [idxj] [idxn];
F=0;G=0;
for(i=0;i<=Idxr.x;i++){
if (F<fabs(Fsptr[il))F=fabs(Fsptr[il);
if (G<fabs(Gsptr[i]))G=fabs(Gsptr[il);
}
fprintf (FO,"# (idxp,idxj,idxn)=(%d %d %d) E=%16.8f\n"
,idxp,idxj,idxn,Es[idxt] [idxp] [idxj] [idxn]);
fprintf (FO,"# r(fm) F/%12e G/%12e Vve Vsc\n",F,G);
F=1.0/F; G=1.0/G;
for(i=0;i<=Idxr.x;i++){
r1=RadialGridSpacing*i;
fprintf (FO,"%8.4f %16.8e %16.8¢ %16.8¢ %16.8e\n"
,r1,Fsptr[i]#F,Gsptr [1]*G, Vv [idxt] [2*i],Vs[idxt] [2*i]);

inline int swap(orbital *e, int i, int j){ // called only by function "sort"
orbital tmp;
tmp = el[il;
eli] = el[jl;
elj] = tmp;
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int sort(orbital *e, int imax){
int idxt, i, j;

for(i=0;i<imax-1;i++){

for(j=i+1; j<imax;j++){
if(el[i].e>e[j].e){
swap(e, i, j);

}

int resetOccs(int idxt_arg){
// Zero clear a global array Occs for the first index is equal to idxt_arg.
// If idxt_arg >= IDXT, the zero clear is done for all the values of idxt.
int idxt,idxp,idxj,idxn;
for (idxt=0;idxt<IDXT;idxt++){
if (idxt == idxt_arg || idxt_arg >= IDXT){
for (idxp=0;idxp<IDXP;idxp++){
for (idxj=0;1idxj<IDXJ;idxj++){
for (idxn=0;idxn<NODE; idxn++){
Occs[idxt] [idxp] [idxj] [idxn]=0.0;

int resetEs(int idxt_arg){

int idxt,idxp,idxj,idxn;

for(idxt=0;idxt<IDXT;idxt++){

if (idxt == idxt_arg || idxt_arg >= IDXT){
for (idxp=0;idxp<IDXP;idxp++){
for(idxj=0;idxj<IDXJ;idxj++){
for (idxn=0; 1dxn<NODE; idxn++){
Es[idxt] [idxp] [idxj] [idxn]=Ebigg; // means not calculated

int initialPotential(int sw) {
// Oth compoment of vector potential (MeV) and scalar potential (MeV)
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//
//
//
//
//
//

int i,idxt;

double r,dr;

double A,R,rhov,rhos,rho3,t1,t2,Vv0O[IDXT],VsO[IDXT],VcO; // local variable
// external variables

// rO_ws,a_ws,NZ[]

A=NZ [NEUTRON]+NZ [PROTON] ;
R=R_ws; // =rO_ws*pow(A,1/3.0), though optimal value may be slightly different...
rhov=0.16;
rhos=rhov;
rho3=rhov* (NZ [NEUTRON] -NZ [PROTON] ) /A;
t1=pow(Coupling [OMEGA] *HbC/BosonMass [OMEGA] , 2) *rhov;
t2=pow (Coupling [RHO] *HbC/BosonMass [RHO] ,2) *rho3;
VvO [NEUTRON] =t1+t2;
VvO [PROTON J=t1-t2;
VsO [NEUTRON] =-pow (Coupling [SIGMA] *HbC/BosonMass [SIGMA] ,2) *rhos;
VsO[PROTON ]=VsO[NEUTRON] ;
Vc0=NZ [PROTON] *f ineStructureConstant*HbC;
dr=RadialGridSpacing/2;
for(idxt=0;idxt<IDXT;idxt++){
for(i=0;i<=2*Idxr.x;i++){
r=ix*dr;
Vv [idxt] [i]=VvO[idxt]/((1.0+exp((x-R)/a_ws))*(1.0+exp((-r-R)/a_ws)));
Vs[idxt] [1]1=VsO[idxt]/((1.0+exp((r-R)/a_ws))*(1.0+exp((-r-R)/a_ws)));
if (idxt == PROTON){
if (r<=R){
Vv [idxt] [i]+=0.5%VcO/R* (3-pow(r/R,2));
}
else {
Vv [idxt] [i]+=VcO/r;
}
}
}
if (sw>0){
printf("vector potential: t,strength,R,a=d %f %f %f\n"
,idxt,VvStr[idxt] ,R_ws,a_ws);
printf ("scalar potential: t,strength,R,a=Vd %f %f %f\n"
,idxt,VsStr[idxt] ,R_ws,a_ws);
}
}

return O;

A set of functions to solve the Dirac eigenvalue equation with spherically symmetric
vector and scalar potentials which are regular at radius zero.
* idx2qn
setRadialGrid
solveDirac
rungeBCi

* X ¥
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//  * rungeBCo
//  * (rungeFunl and rungeFun2 :commented out)
//  * runge

int idx2qn(int sw,int idxp,int idxj, double *J,int *w,int *L,int *kappa){
// converts the indices into quantum numbers

*J=idxj+0.5; // J = angular momentum

if (idxp == 0){*w=-1;} else {*w=1;} // w = quantum number "varpi"

*xL=idxj+(1+ *w)/2; // L=J+varpi/2 : orbital angular momentum

*xkappa=*w *(idxj+1); // kappa = varpi*(J+1/2)

if(sw > 0){

fprintf (stderr,"quantum numbers: J=%3d/2 varpi=)d L=)d kappa=/d\n"
, (int) (2% (xJ) ) , *w,*L, *xkappa) ;

return O;

}
}

int setRadialGrid(int sw)
{ // sets up the parameters of the radial grid to express the radial wavefunctions
double dr, A;

Idxr.i=1; // For radial grid number <= Idxr.i, rungeBCi is used.
Idxr.o=500; // For radial grid number >= Idxr.o, rungeBCo is used.
Rout=25.0; // (fm) corresponding to Idxr.o
Rmax=30.0; // (fm) corresponding to Idxr.x

if(1 > Idxr.i || Idxr.i > Idxr.o || Idxr.o >= IDXR || Rout <= 0.0){
fprintf (stderr,"setRadialGrid: error: Idxr.i,Idxr.o,Rout %d %d %f\n"
,Idxr.i,Idxr.o,Rout);
exit(1);
}

A=NZ [NEUTRON] +NZ [PROTON] ;
R_ws=rO0_ws*pow(A,1/3.0);

dr=Rout/Idxr.o; RadialGridSpacing=dr;
Rin=Idxr.i*dr;

Idxr .m=(R_ws+3*a_ws)/dr+0.5;

if (Idxr.m < Idxr.i) Idxr.m = Idxr.i;
if (Idxr.m > Idxr.o) Idxr.m = Idxr.o;
Rmatch=Idxr.mx*dr;

Idxr.x = floor(Rmax/dr+0.5);

if (Idxr.x > IDXR-1) Idxr.x=IDXR-1;
Rmax=Idxr.x*dr;

if (sw>0){
printf (" R(in,match,out,max)=%9.5f %9.5f %9.4f %9.4f (fm)
\n",Rin,Rmatch,Rout,Rmax) ;
printf ("idxr(in,match,out,max)=%9d %9d %9d %9d dr=%15.10f (fm)\n"
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,Idxr.i,Idxr.m,Idxr.o,Idxr.x,dr);

double solveDirac(int idxp,int idxj,int idxn)

{ // calculates the energy and the wavefunction of the eigenstate
int i,idxt,node;
double maco,macol,maco2; // matching condition is "maco=0"
double E,E1,E2,dE, Eprec=1.0e-14; // energy (MeV)
idxt = idxtGlobal;

runge (0,Mass[idxt]-0.001,idxp,idxj,idxn,&node,&maco) ;
// printf("solveDirac: runge done.\n"); // #1#

if(node < idxn || node == idxn && maco < 0){
// fprintf(stderr,"no bound states: For E=Mass
, node=%d maco=%e\n",node,maco);
E=Ebig;
goto fin;
+

El1=Mass[idxt]-30.0; dE=10.0;
for(;;)d{
runge (0,E1,idxp,idxj,idxn,&node,&maco) ;

// printf ("solveDirac: runge done in for(;;). E1=)f dE=%f node=%d maco=Yf\n"
//  ,E1,dE,node,maco); // #2#

if(node < idxn || node == idxn && maco < 0) break;
E1=E1-dE; dEx=1.25;
+
// fprintf (stderr,"lower bound (E,node,maco)=(%f %d %e)\n",El,node,maco);

E2=E1%0.8+Mass [idxt]*0.2;

for(;;){
runge (0,E2,idxp,idxj,idxn,&node,&maco) ;
if(node > idxn || node == idxn && maco > 0) break;

E2=E2%*0.8+Mass [idxt]*0.2;
if (Mass[idxt]-E2 < 0.001) { // Actually,this condition was alread checked.
fprintf(stderr,"no bound states(2): For E=Mass
, node=Yd maco=%e\n",node,maco) ;
E=Ebig;
goto fin;
}
}
// fprintf (stderr,"upper bound (E,node,maco)=(%f %d %e)\n",E2,node,maco);

// bisection method
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for(i=0;1<60;i++){
if (E2-E1<=Mass[idxt]*Eprec) break;
E=(E1+E2)*0.5;
runge (0,E,idxp,idxj,idxn,&node,&maco) ;
// fprintf (stderr,"12f %5d %15.12f %12f %12f\n",E,node,maco,E1,E2);
if (node < idxn || node == idxn && maco < 0){E1=E;} else {E2=E;}
}
E=(E1+E2)*0.5;
runge (1,E,idxp,idxj,idxn,&node,&maco) ;
fin:
Es[idxt] [idxp] [idxj] [idxn]=E;
// fprintf (stderr,"iter=Jd E=Yf\n",i,Es[idxt] [idxp] [idxj] [idxn]);
return E;

¥

int rungeBCi(double r, double E, int idxp, int L, double *F, double *G){
// Boundary Condition for r -> 0

double vv,vs,epsilon,mu,rL,rL1,rL2,rL3;

int idxt;

idxt=idxtGlobal; // A global variable is copied to a local variable.

if(r <= 0.0){
*F=0; *G=0;
if(r == 0) return 0; else return 1;
}
vv=Vv[idxt] [0]; vs=Vs[idxt] [0];
epsilon=(E-vv)/HbC;
mu=(Mass [idxt]+vs) /HbC;
{//input : int L, double r, output : double rL=pow(r,L)
int pt=L; double xt=r, rt=1.0;
while(pt != 0){if(pt & 1) rt*=xt; xtx=xt; pt>>=1;} rl=rt;
}
rLi1=rL*xr; rL2=rLl%*r; rL3=rL2x*r,
*F=rL1-(epsilon*epsilon-mu*mu) / (4*L+6)*rL3;
if(idxp == 0){ // varpi=-1, L=J-1/2=0,1,2,...
*G=-(epsilon-mu)/ (2*L+3) *rL2;
}
else { // varpi=1, L=J+1/2=1,2,3,...
*G=(2xL+1) / (epsilon+mu) *rL- (epsilon-mu) / (2*%L+3) *rL2;
}

return O;

int rungeBCo(double r, double E, double *F, double *G){
// Boundary Condition for r -> infinity

double Massi;

Mass1=Mass[idxtGloball];
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*F=exp (-r*sqrt (Mass1*Mass1-E+E) /HbC) ;
*G=-sqrt ((Mass1-E)/(Mass1+E))*exp (-r*sqrt (Mass1*Mass1-E*E) /HbC) ;
return O;

¥

#define RUNGE_OPTION 3

#if RUNGE_OPTION ==
/] = === === === - - - - function version - - - - - - - - - - - - - -
inline double rungeFunl(double rinv,double F,double G,double E
,int kappa,double V){
return (E-V+Mass[idxtGlobal])*G*(1.0/HbC)-kappa*F*rinv;
}
inline double rungeFun2(double rinv,double F,double G,double E
,int kappa,double V){
return -(E-V-Mass[idxtGlobal])*Fx*(1.0/HbC)+kappa*G*rinv;
}
#elif RUNGE_QOPTION ==
// - - =-=-=-=-=-=-=-=-=-=-- - - macro version - - - - - - - - - - - - - - -
#define rungeFunl(rinv, F, G, E, kappa, W)\
((-(kappa)) *(rinv) *(F)+(1.0/HbC) * ((E) - (V) +Mass [idxtGlobal] ) *(G))
#define rungeFun2(rinv, F, G, E, kappa, W)\
((1.0/HBC) * (- ((E)- (V) -Mass [1dxtGlobal]l) ) * (F)+(kappa) * (rinv) *(G))
#elif RUNGE_OPTION ==

/] - - === =-=-=-=------- inline version - - - - - - - - - - - - - - -
// Inline version uses neither functions nor macros.
#endif

int runge(int sw, double E, int idxp, int idxj, int idxn, int *node, double*maco){
// Runge-Kutta method for radial wave fn.

// sw & 0x01 > 0 --> the wavefunciton iwws stored in the global arrays

// sw & 0x02 > 0 --> fprintf(stderr) some information

/*

used global variables

Fs, Gs, Mass, idxtGlobal, RadialGridSpacing
used functions

rungeBCi, rungeBCo, idx2qn

*/

int i,is,ii,i2,i3;

int w,L,kappa;

int forbac; // 0 for forward solution, 1 for backward solution
int idxt;

double *Fsa,*Gsa;

double ril,rlinv;

double k1,11,k2,12,k3,13,k4,14,k,1;
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double F,F2,F3,F4,01dF, G,G2,G3,G4;

double dr, pmdr, halfpmdr; // pmdr = plus or minus dr
double J, vv, Vvs;

double Fm[2], Gm[2];

double c1,c2,c3,c4,c5,c6,c7;

idxt=idxtGlobal,;
Fsa=Fs[idxt] [idxp] [idxj] [idxn];
Gsa=Gs [idxt] [idxp] [idxj] [idxn];

idx2qn(0,idxp,idxj, &J,&w,&L,&kappa);

dr=RadialGridSpacing;

if (sw & 0x01){
for(i=0;i<=Idxr.i;i++){

ril=ixdr;
rungeBCi(rl,E,idxp,L,&Fsali] ,&Gsal[il);

}
for(i=Idxr.x;i>=Idxr.o;i--){
ril=ix*dr;
rungeBCo(rl,E,&Fsalil ,&Gsalil);
}
}
*node=0;

for(forbac=0; forbac<2; forbac++){

if (forbac == 0){
rungeBCi (Idxr.i*dr,E,idxp,L,&F,&G);
pmdr=dr; is=Idxr.i; ii=1;

}
else {
rungeBCo (Idxr.o*dr,E,&F,&G) ;
pmdr=-dr; is=Idxr.o; ii=-1;
}

cl=pmdrx*kappa;
c2=pmdr*(1.0/HbC) ;
c3=E+Mass[idxt];
c4=E-Mass[idxt];
halfpmdr=pmdr*0.5;

ri=is*dr; rlinv=1.0/r1; cb=cl*rilinv;
i2=is*2; vs=Vs[idxt] [i2]; vv=Vv[idxt][i2];

for(i=is+ii ; ; i+=ii){
12=1%2;
#if ( RUNGE_OPTION == 1 ) || ( RUNGE_OPTION == 2 )
F function and macro versions --------------—-————-—-
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kl=rungeFunl(rlinv,F,G,E,kappa,vv-vs)*pmdr;
li1=rungeFun2(rlinv,F,G,E,,kappa,vv+vs) *pmdr;
ri=ri+halfpmdr; rlinv=1.0/r1;

i3=i2-ii; wvs=Vs[idxt] [i3]; vv=Vv[idxt] [i3];

F2=F+0.5%kl; G2=G+0.5%11;
k2=rungeFunl(rlinv,F2,G2,E,,kappa,vv-vs)*pmdr;
12=rungeFun2(rlinv,F2,G2,E, kappa, vv+vs) *pmdr;

F3=F+0.5xk2; G3=G+0.5%12;
k3=rungeFunl(rlinv,F3,G3,E,kappa,vv-vs)*xpmdr;
13=rungeFun2(rlinv,F3,G3,E, kappa, vv+vs) *pmdr;

ri=dr*i; rlinv=1.0/r1;

vs=Vs[idxt] [i2]; vv=Vv[idxt] [i2];

F4=F+k3; G4=G+13;
k4=rungeFunl(rlinv,F4,G4,E,,kappa,vv-vs)*pmdr;
l4=rungeFun2(rlinv,F4,G4,E, kappa,vv+vs) *pmdr;

#elif RUNGE_OPTION ==
[ )= inline version ----—————————————————————————
k1l=c2%(c3-vv+vs)*G-c5*F;
11=cb*G-c2* (c4-vv-vs)*F;

rl=ri+halfpmdr; c5=cl/ri;

i3=i2-ii; wvs=Vs[idxt] [i3]; vv=Vv[idxt] [i3];

F2=F+0.5%k1l; G2=G+0.5%11;

c6=c2* (c3-vv+vs) ;

c7=-c2*x(c4-vv-vs) ;
k2=c6*G2-cb5*F2;
12=c5*xG2+c7*F2;

F3=F+0.5%k2; G3=G+0.5%12;
k3=c6*G3-c5*F3;
13=c5*G3+c7*F3;

rl=dr*i; cb=cl/ri;

vs=Vs[idxt] [i2]; vv=Vv[idxt] [i2];

F4=F+k3; G4=G+13;
kd4=c2* (c3-vv+vs) *G4-c5*F4;
14=c5%G4-c2* (c4-vv-vs) *F4;

#endif
k=(k1+2*k2+2*xk3+k4)*(1.0/6.0) ;
1=(11+2%12+2%13+14)*(1.0/6.0) ;
01dF=F;

F=F+k;
G=G+1;
if (F*01dF<0) (*node)++;
if (sw & 0x01){
Fsal[i]=F;
Gsali]=G;
}
if (i==Idxr.m) break;
}
Fm[forbac]=F; Gm[forbac]l=G;

} // end of for(forbac)
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*maco=Fm[0] *Fm[1]*(Fm[0]*Gm[1]-Gm[0] *Fm[1]);

//fprintf (stderr,"%12f %5d %15e E,node,maco\n",E,*node,*maco);

———————————————— normalization of the wavefunction : begin ---———------—---

if (sw & 0x01)
{ double s,s1,s2,t1,t2,mf,nfl,nf2;

s1=0.0;
for(i=0;i<Idxr.m;i++){
t1=Fsalil;
t2=Gsal[i];
sl+=t1xt1+t2*t2;
}
$2=0.0;
for(i=Idxr.m;i<=Idxr.x;i++){
t1=Fsalil;
t2=Gsali];
S2+=t 1kt 1+t2%t2;
}
mf=Fm[0]/Fm[1]; // It is preferable to choose between Fin/Fout and Gin/Gout
// the one which suffers from less numeircal error.
s=dr*(s1+s2*mf*mf) ;
nfi1=1/sqrt(s); // sign of the tail for r-> infinity agrees with rungeBCo
if (mf<0.0) nfi*x=-1;
nf2=nf1*mf;
for(i=0;i<Idxr.m;i++){
Fsal[i] *=nf1;
Gsa[i]*=nf1;
}
for(i=Idxr.m;i<=Idxr.x;i++){
Fsal[i]*=nf2;
Gsal[il*=nf2;

// block 2 : begin

//
//
//
//
//

This is an independently available part.

proper/screened Poisson equation solver
No global variables are referred.
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int Poisson(int imax,double h,double *source,double *phi){
double r0O,r1;
double I1,12;
double rhol;
int i,j,k,1,al;
double intcoef[6]={ 11.0/1440.0, -93.0/1440.0, 802.0/1440.0,
802.0/1440.0, -93.0/1440.0, 11.0/1440.03};

//r=0
12=0;
for(j=0; j<imax-1;j++){
for (k=0;k<6;k++){
1=j+k-2;
ri1=1%*h;
al=abs(1l);
if (al<imax) rhol=sourcel[al];
else rhol=0;
I2+=intcoef [k] *rhol*ril;
}
+
phi[0]=h*I2;

//r<0
for(i=1;i<imax;i++){
rO=ix*h;
I1=0;
for(j=0;j<i;j++{
for (k=0;k<6;k++){
1=j+k-2;
ri1=1%*h;
al=abs(1l);
if (al<imax) rhol=sourcelal];
else rhol=0;
Il+=intcoef [k]*rhol*ri*r1/r0;
}
}
12=0;
for (k=0;k<6;k++){
for(j=i;j<imax-1;j++){
1=j+k-2;
ri1=1%h;
al=abs(1l);
if (al<imax) rhol=sourcelal];
else rhol=0;
I2+=intcoef [k] *rhol*ril;
}
}
phi[i]=h*(I1+12);
}

return O;
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[[/——————————————— screened Poisson equation solver ——---——--——-—————————————-
int screenedPoisson(int imax, double h, double m, double *source, double *phi){
double D; // the value of Green’s function
double r0O,ril; // variables r and r’ of Green’s function

double s,sl,s2,expl,exp2,sourcel;
int i,j,k,1,n,al,nexp;
double intcoef[6]={ 11.0/1440.0, -93.0/1440.0, 802.0/1440.0,
802.0/1440.0, -93.0/1440.0, 11.0/1440.0};
#define NEXP 100000
double expmmr [NEXP] ;
int expsft = 3;

nexp=NEXP;
expl=exp (-m*h) ;
for (k=0;k<NEXP;k++){
if(k % 20 == 0) expmmr [k]=exp(-m*h*(k-expsft));
else expmmr [k]=expmmr [k-1]*expl;
if (expmmr [k]1<1.0e-32) {
nexp=k+1;
break;
}
}
if (expmmr [nexp-11>1.0e-16) {
fprintf (stderr,"screenedPoisson: warning: You have to increase NEXP\n");
fprintf (stderr, "expmmr [%d]=Ye\n" ,NEXP, expmmr [NEXP-1]) ;
}
#undef NEXP

// calculation of phi(r) at r=0
s2=0;
for(j=0;j<imax-1;j++){ // integral over [0, (imax-1)=*h]
for(k=0;k<6;k++){
1=j+k-2;
ri1=1%*h;
n=l+expsft; if(n<nexp) expl=expmmr[n]; else expl=0;
al=abs(l); if(al<imax) sourcel=sourcelal]; else sourcel=0;
s2+=intcoef [k] *sourcel*ri*expl;
}
}
phi[0]=h*s2;

// fprintf(stderr,"phi[0]=%.7f\n",phi[0]);

// calculation of phi(r) for r>0
for(i=1;i<imax;i++){
rO0=ix*h;
s1=0;
for(j=0;j<i;j++){ // integral over [j*h, (j+1)*h], (j+1)*h<=r0

69



for (k=0;k<6;k++){
1=j+k-2;
ri1=1%*h;
n=i-l+expsft; if(n<nexp) expl=expmmr[n]; else expl=0;
n=i+l+expsft; if(n<nexp) exp2=expmmr[n]; else exp2=0;
al=abs(l); if(al<imax) sourcel=sourcelal]; else sourcel=0;
sl+=intcoef [k] *sourcel*rix (expl-exp2);
}
}
s2=0;
for(j=i;j<imax-1;j++){ // integral over [j*h, (j+1)*h], j*h>=rO
for (k=0;k<6;k++){
1=j+k-2;
ri1=1%*h;
n=1-i+expsft; if(n<nexp) expl=expmmr[n]; else expl=0;
n=l+i+expsft; if(n<nexp) exp2=expmmr[n]; else exp2=0;
al=abs(l); if(al<imax) sourcel=sourcelal]; else sourcel=0;
s2+=intcoef [k] *sourcel*ri* (expl-exp2);
}
}
phi[i]=h*(s1+s2)/(2*m*r0) ;
}
return O;
}
// block 2 : end

// block 3 : start
//  No global variables are referred.

int interpolate(double *y, int n){

/*
double y[n],
y[0],y[2],y[4],...,y[n-5],y[n-3],y[n-1] : given.
y[11,y[3],y[5],...,y[n-6],y[n-4],y[n-2] : to be interpolated.
n must be an odd integer not less than 7.
y[-il=y[i] assumed.
y[i]=0 assumed for i >= n.

*/
int 1i;
double f0= 3.0/256.0
double f1=-25.0/256.0
double f2= 75.0/128.0
double £3= 75.0/128.0;
double f4=-25.0/256.0
double f5= 3.0/256.0

if (n%2==0]| |n<7){

exit(1);
}
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y[11 =foxy[4] +fixy[2] +f2xy[0] +£3xy[2] +f4xy[4] +f5xy[6] ;
y[3] =fOoxy[2] +fi1xy[0] +f2xy[2] +f3xy[4] +fdxy[6] +f5+y[8] ;

for(i=5;i<=n-6;i+=2){
y[il=f0xy [i-B]+f1xy[i-3]+f2xy[i-1]+£3*y[i+1]+f4*y[i+3]+£5*y[i+5];
}

// NB) density beyond the maximum radius is approximated with zero.
// A better treatment is to construct 5-pt and 4-pt formulae
// and use them for these points.

y[n-4]1=£f0*y [n-9] +f1*y [n-7]+f2xy [n-5] +£3*y [n-3] +f4*y [n-1]

y [n-21=£0*y [n-7]1+f1xy [n-5] +f2*y [n-3] +£3*y [n-1]

}
// block 3 : end
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